American heroes honored


Reporter: The three American heroes who stopped a terrorist attack on a train are honored with France’s highest award for bravery.

Spencer Stone, Alex Skarlatos, and Anthony Sadler were presented with the ‘Legion of Honour’ in Paris. 

Each received a kiss on the cheek from President Francois Hollande. The three American childhood friends from Sacramento, California were dressed casually in polo shirts and khakis. 

They were touring Europe together when they jumped into action to subdue that heavily armed terrorist on a train from Amsterdam to Paris. This is the terrorist, hogtied with the train conductor’s tie. 

Spencer Stone is 23. He was the first of the three friends to reach the attacker. He is a trained EMT and an airman in the US air force. 

Right behind him was Alex Skarlatos. He is 22 and is in the Oregon army national guard. He just returned in July from a nine-month tour in Afghanistan. 

Stone and Skarlatos’ mother’s live on the same block.

Mother: “If they weren’t there, what could have happened to innocent people? You know, people like us trying to live our lives. You know, going to work or coming home from work.”

Reporter: Anthony Sadler is 23. He is a senior at California state university in Sacramento. Here is what his dad says

Father of Skarlatos: “Anthony physically is uninjured. Emotionally, in good spirits. But traumatised to a degree.”



[bookmark: _GoBack]https://www.youtube.com/watch?v=er6bM0_LoxE&feature=youtu.be
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